
012 bits

1

CA

2A 3A 4T 5C 6G 7

CA

8T 9

5
’

012 bits

1T 2

3

TC

4C 5T 6C 7T 8C 9

5
’

012 bits

1

2

GA

3T 4A 5G 6

TC

7A 8A 9

5
’

012 bits

1

2T 3T 4G 5A 6A 7A 8C 9

5
’

012 bits

1

2

TG

3T 4G 5T 6G 7A 8C 9

5
’

0

1

2

b
it

s

1

C

A

2

A

3

A

4

T

5

C

6

G

7

C

A

8

T

9

5’

0

1

2

b
it

s

1

T

2 3

T

C

4

C

5

T

6

C

7

T

8

C

9

5’

0

1

2

b
it

s

1 2

G

A

3

T

4

A

5

G

6

T

C

7

A

8

A

9

5’

0

1

2

b
it

s

1 2

T
3

T
4

G
5

A
6

A
7

A
8

C
9

5’

0

1

2

b
it

s

1 2

T

G

3

T

4

G

5

T

6

G

7

A
8

C
9

5’

0.01

(Pos)

0.0

(Neg)

0.01

0.0


